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1. What does “agroecological region of the

Eastern Ghats” mean in the passage?

(a

(b)

(c)

(d)

Area  marked by  excessive
agricultural yield

Area suitable for developing
tourism

Area with pollution-free charac-
teristics

Area meant for sustainable farming
that works in tandem with nature

2. There has been a rapid decline in minor
millet cultivation because

(a)

(b)

(c)

(d)

the millet crop requires special
manures to grow

the land of Namakkal district is
not suitable for growing millet

ere has been shift towards
growing more profitable crops

the land is declared as not climate-
resilient for the production of millet

3. What does “a tiny share of grain was
processed into value-added products”
mean in the passage?

(@)

Enough was not done for the
marketing of millet as a diverse
food product.

JB)~ A small quantity of millet is used

with other grains,
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(c) The dem?nd for millet is not very
encouraging.

(d) Millet does mnot have potential
health benefits.

4. “The introduction of small-scale localized
mechanical milling, operated by self-
help groups, was a game-changer”
What does it mean in the passage?

(@) Machinery for processing millets is
not advanced enough.

(b) Self-help groups are active in
improving machinery for various
CTops.

(c) The wuse of improvised Iocal
machines for removing husk from
millets has been a turning point for
millet farming.

{d) -The process of milling the millets is
at a small scale.

S. Millet yield has increased because

(6}~ sustainable farming practices are
being followed

(b) farmers are exporting millet

(c) more labour is
farming

employed for

(d) easy bank loans are available now

[P.T.O.
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nly succeeds in
the beauty of

s the power to

11. Her poetry not ©
brilliantly capturing ;
nature but also carre

suggest that which 18 tw{_ﬁﬂd
beautiful fo _be e;q?res{.gii‘_ig__wgrds.

e

e

(a) the unknown
(b) the proscribed
{c} the intangible

(@) the ineffable

12. The Government’s policies were aimed at
relieving the distress of the homeless
]

the unemployed and
‘ the poverty-
stricken sections of society. B

@)~ needy .
(b) indigent
(c) disadvantaged
(d) challenged
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stalics. ©

refused to allow him to

speak at the function since he was
known to make speeches that tended to

nd ignite passions.

13. The organizers

provoke @
(a) irreverent speeches
(b)~incendiary speeches
{c) unsubstantiated speeches

(d) irrelevant speeches

14. She was criticized for her views that were
often restricted to small local issues and
ignored matters of national importance.
(a) unilateral
{b) illiberal
17.
(e}~ parochial

(d) limited

(@) precipitoy sly
{b) insta.nta_ne(m SIy
\-@ cataclysmjca“y
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pirections : Given below are five items, comprising sentences 7
g the meaning of the underlineq

underlined. Choose the response (@), (b), (c) or (d) which is closest t©
word and mark your response in the Answer Sheet acclordmgly

16. The essay was badly researched and
contained  several platitudes and

generalizations.

(a) Incorrect statements

‘;b)/ Imprecise comments

(c) Often used and unoriginal ideas

(d) Vague, subjective statements

17. The judgment of beauty is based on

the human capacity for
pleasure in the natural world.

\.{9/, Indifference
(b) Free of all self-interest
(c) Not caring for something

(d) Extremely focused
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disinterested
Glottess —

d-year old college building

18. The hundred-year 25
i ct state.
b8 siow ina dererct

(a) preserved for historical value

(b) Unsafe for occupation
(e~ Neglected and broken down

(d) Retaining its original beauty

19, My serendipitous encounter with the
man on the bus was to have a profound
impact on my life.

{a) Fortunate
(b) Of historical significance

_fck Sudden and abrupt

(d) A chance event

x
20. Notwithstanding our victory today We
must be careful to avoid a feeling of
complacency.
(a) Smug and self-satisfied
(b} A defensive attitude

(c} Pride

(d) Feeling of superiority



8. people in dire need it is a truth universally acknowledged that
: Q

for assistance  reach out to their friends and family
R S

(a* QPSR
(b) PSRQ

(c) QRPS
(d) RQPS

9, his vengeful by the expression on his face and diabolical nature
P Q R

were clearly revealed
S

(@ QSPR
(b} QPRS
() PSQR
(d) PRSQ

on more than one occasion
R

10. bitter fights  between the two rival teams
P Q

1 have witnessed
S

(@) SRQP
(b) RSPQ
(c) QPRS
(d) SQRP
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PART—B
the following registers

21. Which of the following is not a capital @ Which onﬁt}:: address of the next
contains

expenditure? mory to be acc
ShiE es
(@ #5,000 spent to remove a worn- location i th = =
out part. This part needs to be (a) IR

replaced with a new engine

(b) Expenses on foreign tour for
hasin i
purchasing a new machine (c) MBR

(c) Freight and insurance of the

(b) MAR

machinery purchased (d) DR
(d) Amount spent on repairing a

secondhand machine before put 27. The effluents of which among the
_ touse following industries are considered to

: : be the main cause for lowering the
22. Which one of the following is not pH value of river water?
a correct 1P address? 5
(@) Alcohol distillery industries

(a) '201.54.122.107
(b) 102.45.221.710
(¢) 102.45.201.22

(gy 250.284.123.124

(b) Plastic cup manufacturing
industries

(c) Soap and detergent industries

23. In mesh topology, if we have six @)/Leaﬁ battery manufacturing
computers, how many links must be industries
there?
(a) 6 (b) 12 \>28, Which one of the following is nota soap?
13 @)y 15 :
(c) (a) Sodium stearate
i walent of the octal ; B
G iy & P | a0 g
e 10011101 o B B (c) = Sodium benzoate
(b) 100111111 \*E*Q"“-:'}'}”” : -
/ et T VN (d)” Sodium oleate

(¢) 110111011

(d) 110001011 29. The human eyeball is composed of three

- ; Jayers. The correct sequence of the
25. Which one among the following layers from exterior 1o bteHor _'is '

commands is used to check the error
status of hard disk drive? (a) Sclera —» Choroid — Retina

a) CHKDK
l;bi CHECKDISK (b} Cornea — Choroid — Retipa

(d) DSKCHK (d) Sclera — Cornea —> Choroid

9 s\ oHP [ PTO-
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(@ 201.54.122.107
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(d) 250.234.123.124

23. & @il (Fw Adwth) 3, af =R
3 T, A Pt R 2R e 87
(a) 6 (b 12
{et 13 (d) 15

24. Ul wem 473 -z ;
w37 | R g&q)

(a) 100111011
(b} 100111111
(¢) 110111011
(d) 110001011

25.3’!&‘%@;3@3*" :
B e R A o 3 oy

Ul U5 Tz
(@) CHKDK © T T &7
{b) CHECKDISK
{c) CHKDSK

(d) DSKCHK
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@ Consider the following reaction :

2H, (g) + O, (g) — 2H,0()
Teer. Which one of the following statements
= E about the reaction given above is
| correct?
I £ : | (a) The oxidation state of hydrogen
) increases  while that of oxygen
’ decreases.
?ﬁ‘mﬂ 1 (b) The oxidation state of hydrogen
| decreases while that of oxygen
increases,
¥ 4 .
(c) There is no change in the oxidation
state of hydrogen as well as that
9 of oxygen.
X 7 (d) During the reaction, hydrogen is
< reduced while oxygen is oxidized.
G 31. The pillar-like structures which hang
Sifte vertically downward from the aerial
, ':ﬁ branches found in banyan tree are
: known as
ap roots
2t ¥ M P
{b) climbing roots
¢) fibrous roots
iR L
ERT:[\ {d) prop roots
il 32. Which of the following was/were
fepert recommended = by the Thungon
Committee in respect of ‘local
P governments’ in India?
e 1: Constitutional status

2. Three-year term

Select the correct answer using the
code given below.

(c-t)/l only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

BNYR-B-GNS/75C

33. ‘cSanjeevani’, a scheme  of the

Government of India, serves which one
among the following objectives?

(a) Creates a database of people
affected by COVID-19

\{Q/’Promotes the use of telemedicine

(c) Establishes an electronic Nationa]
Clinical Registry

(d) Efficient promotion of health
advisories

@Which of the following statements about

recommendations of the 15th Finance
Comimission is/are correct?

1. Basic (untied) grants can be used
by rural local bedies for location-
specific felt needs under the 29
subjects enshrined in the Eleventh
Schedule of the Constitution of
India except for salaries and other
establishment costs.

2. Tied grants can be used for
basic services of sanitation and
maintenance of ODF status,
management and treatment of
household waste and human
excreta.

3% It recommended ‘Health Grants’ to
create diagnostic infrastructure in
. primary health care facilities.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2 and 3 7 W
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37. An

85. Which of the following statements about

the functions of the State Finance
Commission is/are correct?

1. It reviews the financial position of
the local governments in the State.

2. It reviews the distribution of
revenue between rural and urban
local governments.

Select the correct answer using the
code given below.

(a) 1 only

{b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

36. CAMPA fund is regulated by which one

of the following Ministries?
(@) The Ministry of Home Affairs

() The Ministry of Agriculture and
Farmers Welfare :

(¢) The Ministry of Environment,
" Forest and Climate Change

(d) The Ministry of Defence

employee working in an
establishment draws a monthly wage
of 9,000 as fixed under the Minimum
Wages Act, 1948 and is eligible to get
bonus under the Payment of Bonus
Act, 1965 for the accounting year
2021-22. The bonus payable is at the
rate of 10%. If the employee has worked
continuously for whole of the said
accounting year, then what is the
amount of bonus that shall be paid to
the employee?

fa) €7,000
(b) ¥8,400
(c) €10,000
(d) ¥10,800
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38. Which one of the following statements

: f conciliatj
ing to conclusion o on
?)isputes Act, 1947 is not correct?

s concluded on the date When

G ;t l1:1e?no:ranclur:ﬂ qf settlement g
signed by the parties.

(b) It is concluded on the date When
it ends in failure resulting in pg
memorandum of settlement signeq
between the parties.

(c) It is concluded on tl’u;: c!ate when
the report of the Conciliation Officer
is received by the Appropriate
Government when no settlement
is arrived.

(d) It is concluded on the date when
the reference is made by the
Appropriate Government to the
Labour Court/Industrial Tribunal
under Section 10 of the Act during
pendency of the conciliation
proceedings.

39. The provision for disability compen-

sations for the person, who is declared
unfit after medical examination and for
whom no alternate employment is

- possible, finds place under which one

of the following legislations?

(a) The Building and Other
Construction Workers (Regulation
of Employment and Conditions of
Service) Act, 1996

(b) . The Factories Act, 1948
(¢)., The Mines Act, 1952 _
(d) The Plantations Labour Act, 1951

40. Which one of the following Articles of

the Constitution of India prohibits
employment of children in factory
Or mMine: or: any .other. hazardous
employment?

(@) Article 19

(b) Article 21

(¢) Article 23
Article 24 =

BABULRET PTvO
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mong  the following
41. Which one among the following ! abiut E o Kailashaniatha
observations pertaining to the works of > s not correct?
Ninctecnth-’rwentieth Century archae-
ologists is not correct?

le was carved out of rocks
(a) Alexander Cunningham, the first (@) ?:ﬁ:%l?ghth Century CE.
Director-General of the Archaeo- ;
logical Survey of India, was of
] that the histo of India = dlcated to Lord
:)tt;a‘;lm;th the origins o?(the Indus (b) ’;};?v;emple is de
Valley Civilization. :

John Marshall generally adopted (c) The superstructure of the temple
the method of excavation along corresponds to the Nagara style.
regular horizontal units and

ignored the stratigraphy of the site.

(d) The temple has both Shaiva and
R. E. M. Wheeler first recognized Vaishnava sculptures.
the necessity to follow the
stratigraphy of the mourlld rather
than dig along horizontal"lineé\.\.

Amalananda Ghosh was the ﬁ}-st 44. Which one of the following statements
to identify similarities between pre- about ancient Indian pottery is correct?
Harappan and mature-Harappan
cultures.
(a) Northern Black Polished Ware
(NBPW) refers to a type of pottery
found from archaeological sites in
42. Which one of the following was an India dating back to 600 BCE.
important contributing factor in the y :
rise of Magadha as the most powerful i S =
Mahajanapada between the Sixth and Painted Grey Ware (PGW) refers to
the Fourth Centuries BCE? a type of pottery found over a large
part of South India coinciding with

the S aImn 100
(a) Easy access to rich gold mines angam period.

(b)) Sunerior cavairy Ochre Coloured Pottery (OCP) sites
are located in South India only.

(c) An agriculturally productive region

Black-and-Red Ware (BRW)

is
never found at Neolithic sites.

(d) Republican system of governance

BNYR-B-GNS/75C
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45. Which, one of ‘the foll

47. What is

owing pairs is not
correctly matched?
(Ancient Text/ Term)

(@ Samarangana-
Sutradhara

(Meaning)

. A scientific work
on ancient Indian
architecture

. A style of temple
architecture that
originated under the
Chola Kings

. A striking feature of
the Dravidian style
of temples

« A hut with a pointed
roof where travelling
mendicants halted

(b) Harmika

(c) Vimana

(d) Kutagarashala

46. What is the time limit prescribed under

the provisions of the Employees’
Compensation Act, 1923 from the
date of reference within which the

Commissioner is required to dispose of
the matter relating to compensation
and intimate the decision to the
employee?

(a) Six months’

(b) Onme year

(c) Two months

(d) Three months

the = minimum  number
of employees employed by an
establishment functioning without the
aid of power and is registered under
the Cooperative Societies Act, 1912 that
shall require it to:come within the
purview of the Employees’ Provident
Funds and Miscellaneous Provisions
Act, 1952pP

(a) Fifty

(b) One hundred

(¢) One hundred twenty
(d) One hundred fifty

BNYR-B-GNs/75¢
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48. Any questio :
shall be determi

Employees’ Sta

n relating to disablement
ned by which one of
the following authorities under the
te Insurance Act, 19487

(a) The Insurance Medical Practitioner

(b) The Social Security Officer

(c) The Medical Board
(d) The Medical Appeal Tribunal

49. What is the amount of compensation

50.

What is

that is to be paid to an employee who
is totally and permanently disabled as a
result from injury under the provisions
of the Employees’ Compensation Act,
1923? (Hints : Monthly wages drawn
were 22,500 and relevant factor is

159-80)
(a) € 14,38,200
(b) 23,97,000
(c) €21,57,300
(d) ©7,67,040

the minimum number of
employees required to be working in

' an establishment, so that the employer,

with the authorization of the majority
of the employees of the establishment,
may apply to the Central Government
to authorize the employer to create
a separate Provident Fund Account for
the employees under the Employees’
Provident Funds and Miscellaneous
Provisio;;&; Act, 1952°?

(a) One hundred
(b) Three hundred

(d) One thousand @

3__3?}5.5'.:---_: [PTO
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51. Following are the Central Federations

of Trade Unions of Workers formed in
India :

Indian National Trade Union
Congress (INTUC)

All India Trade Union Congress
(AITUC)

Self-Employed Women’s Association
(SEWA)

United Trade Union Congress
(UTUC)

Centre of Indian Trade Unions
(CITU)

Bharatiya Mazdoor Sangh (BMS)

Which one of the following is the correct
sequence of their formation from the
earliest to the latest?

(@) 2; 15461583

(b) 2, 1,138, 4, 6,5

3, 6

4
el 1, 2,5, 9
4

(@d 1,3,2,4,5,6

52. Which one of the following core

conventions adopted by the Inter-
national Labour Organization (ILO) has
not been ratified by India?

(@) The Forced Labour Convention
(No. 29)

(b) The Equal Remuneration
Convention (No. 100)

(c) The Freedom of Association and
Protection of the Right to Organize
Conyention (No. 87)

The Discrimination (Employment
and Occupation) Convention
(No. 111)

B
M“B“GNSITSC

53. Suppose the

54. 'Registration of trade unions of

ve trade unions,
BreC a;eaxfd E functioning in
‘ment currently Bmployir:lg
The membership
as follows :

namely A,
an establishmen

1100 workmen. ;
strength of each union 18

100
370

Union A
Union B
URionl O e 210
Union D : 275
Union E 80

Based on the strength of membership,

which of the above unions can be
registered under the Trade Unions

Act, 19267
(a) All the unions
(b) Unions A, B, C and D only

(¢) Unions B, € and D only

(d) Unions B and D only

f workers
under the Trade Unions Act, 1926 is

(@) optional
(b) compulsory

() optional for

Worker
non-publie R

o rKking

tility S€rvices 5

C"Jmpu]m]y f

i ; or w

" PUbli utiy g0 Working
s
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y, V and W are sitting
_ The Right of workers to resort to strike 58. %, QR ‘:" f:cmg North. P and S are
is the -\.---"/ in & TO

f both Q
{a) Fundamental Right ne:ﬂghjo 1;- is a neighbour of R and V.
an

(b} Statutory Right If there are four people bctt;.lv:reen gc atr._:i v
() Common Law Right how many people are en

: 3 pand R?
(d] Equitable Right
fa) 1

55 PQ and RS are chords on a circle {b) 3
~#  centred ‘at 0. Suppose A is the point 5

of intersection of PQ and RS, Which of (el

the following statements is/are correct? (816

1. If A and O coincide, then the four

parts of the circle produced by (szhc angles of elevation of the top of

a tower from the top and bottom of
::aihOMS shall always have equal 10 e tic i o6l fng oA and

45° respectively. Approximately what
M5 end Odo oot eolcice, Ciea S0 is the height of the tower in metres

of the four parts of the circle from the top of the building [given
produced by the chords. shall that 43 = 1-73)?

always have equal areas. (@) 1065 Lagy
Select the correct answer using the ' F‘;E'-'—“ﬂ
code given below. (b) 1341

{a) 1 only c) 1365 L ==
(b) 2 only (d) 1541

fc} Both 1 and 2 60. A multiple-choice question paper has
(d) Neither 1 nior 2 30 questions. Each question has got
four options, namely A, B, C and D.
57. P,Q, R, Sand T are five friends. The mean Each correct answer carries 4 marks
of weights of\ P, Q, R and S is 50 kg, and each wrong answer carries -1 mark.
whereas the miean of weights of Q, R, A candidate decides to tick in the
S and T is also 50 kg. Which of the pattern
following statements is/are correct? A BCD ABGCDABG D, ..
1. The weight of T is 50 kg. . :
2. The weights of P and T are equal. and so on starting from Question No. 1,
till the end. If option (C) is the correct
answer in each question, then what is
the total score of the candidate?
(@) 1 onlx (a) 6

(b) 2,0nly ez (b) 8
[ﬁ/B’oth 1 a.nd 2 \ﬁ” 10

(d) Neither 1'hor 2 472 SRV Iy

Select the correct answer using the
code gn.rcn he!qw

L]

e ]
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o ArﬁCIF' 43 of the Constitution of India
enjoins the State to endeavour through
legislation or economic organization for
payment of which of the following
wages?

(a) Living wage

(b) Minimum wage

{c) Fair wage

(d) Need-based minimum wage

~

/62.) Container X contains a mixture of oil
and water in the ratio 1:3, whereas
container Y contains a mixture of oil
and water in the ratio 2: 3. If 2 litres of
liquid from container X and 5 litres
of liquid from container ¥ are mixed
together in container Z that initially
contains 1 litre of pure oil, then what is

the percentage of oil in container Z ? 29"2'9" Profit | 258 | 95 14 205
f""-\ T
(a) 4125 \@ Av) W A 5 :
e W\ 7/ 64y How many of these companies’ earnings

(b) 4275 o= increased by at least 20% in the year .
\/ ) N 2020 in comparison to the year 2016?

() /4375 ‘i b R__.5o

(d) 44:25 S

63. A solid circular metallic Hisc of radius
12 inches and thickness 4 inches is
melted and shaped into a solid disc of
radius 16 inches. What is the thickness
of the new disc in inches?

AL P ‘;}i’\f‘” 2

<

next three items are based on,
the following table which shows the earningg

fi or;ﬁts (in rupees thousand crore) of four
i g 20162020 :

companies duﬁﬂ_/,__,____——_ﬁ
Company

Directions : The

= =l Z
Ye 2 - e
ear e e |
0 95 74 50
___—-—-'__‘ -
2018 I rroft || 2051 65 2 i

94 | 77 | s8
| o5 | 88 | 55
o2 | 82 | 75

in
2017 e

Profit

Earning| 115

2018 m'}}? 75 | 105 | 100 | O
Earning| 125 | 90 85 | 80

2019 e | 207 55 12 | 125
Earning| 130 96 89 95

A\

A Bt SR
(d) 4 NN\ e
sp %

65. ?02_0, the relative profit jump of \L\
which company was maximum—over
the previous year?

(a) X




F01 & fere

e e § IR T s

A ¥ e H P 43
adl 87

(@) frafe FEd
e

(o) 3f wrd ,
(@) S-SR = F

62. TH Ym X ¥, ¥ o urh w Paw 1:3 ¥
U & R, wafF u v A da R g
fom 2.3 F s A2 aR x4 @
2 W5 SR YH A 5 AR zE R U 2
%, Pl vey @ 1 IR 36 99 8, = Ty
fﬁmqartf,a’f?ﬁzﬂ%amirﬁmaﬂa%?

‘(@) 4125
(b) 4275
(c) 4375
(d) 4425

63. 12%?%@1@143‘3%me

il 16@&@%%%3) ﬁm

ey st e AT A T g

?mﬁ ivg v #, R e &

= X Z W
e | 100 | 95 | 74 [

2016 [ |-005] 854|bne B
s, ] 120 |94 | ra e

2017 :
s [ 224 | 95 | 88 | oo

s | 115 | 92 | 82 [=

2018 am | 231 7.5 105 “—‘1‘6?
a1 | 125 | 90 | 85 | g

201
- @M | 207 | 55 12 “1;;
s | 130 | 96 89 [ o5

2020 e
Sl 258 9:5 138 205 |

ﬁmww*%mﬁ

64. Fooefl Ffat %1 sf, a8 2016 'q?rgamﬁ,
T 2020 % FH-3-39 209 a7 '

(@ 1

(62.

63,
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73. ﬁﬁﬁiﬁiamﬁmﬁaniﬁ’rﬁm,:

1 mmﬁmﬂmﬁ,mm%
;mewwmamm

2, h-ﬁmﬁw,mm%
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(b) w9
(c) 1 o s

(d) a?hxamqm
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75. AfF F W F, PrafaReg 3 | iﬁﬁmﬁ
FYT HEl B /87

R 2 0 e o e g
(@ a1

(b) Fag o
(c) Iaﬂ'{gg‘rﬁ

of India?

1. "The de
Govern:

S Thewen
of the
expend:
office

3. 'The.  .s
pension
Judges

4. The sa
the Ct
Chairm;
and the
Speaker

Select the

code given t
(a) 1 and ¢
() 1,2,3
(¢) 2,3 an
(d) 3 and 4

73. Consider the

1.  Populat
an impa
develop:

L2, Populat;

not an ij
of that

Which of th
Correct?

{fl}/f only

(b) 2 only
(¢) Both 157
(d) Neither

¥ NYR“B“GNSI 75C

.



5 2017, the absolute profit jump of
Ayhich company Wwas minimum__over
{he previous year? S
’/’/_'—'_'—._’_.—)
(@) X
(b) ¥
()2

(@) W

67. The value of long-term investment in
shares is subject to wide fluctuations.
A provision created against fluctuation
in value of investments is based on
the convention of

(a) conservatism
(b) full disclosure

(c) materiality

Mnsistency

68. Which one of the following aspects is not
covered in audit? :

(a) Examination of the system of
accounting and internal control

(b} Preparation of books of accounts

(c) Reporting 1t the appropriate

person/ body

(d) Verification of the authenticity and
validity of transactions

BNYR-B-GNS/75C

69. Which of t

(il } : :
71, The® principle  of

fono“r]j]_g sets the S(‘,ope)
direction' of the audit, and

tm:g;i development of the more
B iled audit P77

() Budit progra™

(b) overall audit strategy

(c) Completion memorandum

() Audit plan

70. Goodwill Account 1S ajan

(a) Personal Account
(by" Real Account
{c) Nominal Account

(d) Expense Account

subrogation  in
—i 1

insurance allows' =~

(a) investment of pohcy amount

(b) refund for insuted: and insured’s
insurance company

(¢) auto-renewal of policy

(d) indemnification 'of the msured

SRTNGHD-{ PEHLES
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T I % a4, et @ -1/

wel 2/87
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which of the following expenditures

are charged to the Consolidated Fund

of India?

1. The debt charges for which the
Government of India is liable

9. The emoluments and allowances
of the President and other
expenditure relating to his/her
office

3. The salaries, allowances and
pensions payable to or in respect of
Judges of the Supreme Court

4. The salaries and allowances of
the Chairman and the Deputy
Chairman of the Rajya Sabha,
and the Speaker and the Deputy
Speaker of the Lok Sabha

Select the correct answer using the
code given below.

(a) 1 and 2 only

(b) 1,2,3and 4

(c) 2,3 and 4 only :

(@) 3 ‘and 4 onlyws

73. Consider the following statements :

1. Population change in ‘an area is
an important indicator of economic
development of that region.,

2. Population change in an area is

not an indicator of social upliftment
of that region.

Which of the above statements is/are
correct?

(@)1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

BNYR-B-GNS/75C
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the fDllO“’ing.

i among
one .
g %lz;izments regarding ‘humnan
deve}opment’ ijs not correct?
concept of Income

h to Human Development
he level of income reflects

ig that t LS
- f freedom an individual

the level ©
enjoys-

b) Basic Needs Approach to Human

t was initially proposed

Developmen :
by the International  Labour

Organization (ILO)-

(¢) Human Poverty Index measures the

rtfall in human development.

sho
Under the Welfare Approach
= to Human Development, the

Government protects and promotes
private entreprencurs to maximize

expenditure on welfare.

75. Which of the following statements about

globalization is/are correct?

1. It has fuelled the spread of trans-
border currencies, digital cash and
global credit cards.

‘2.  'Securities markets -havc_'-gaimd ;
a global dimension with the
development of electronic round-

- the-world trading.

Select the correct answer using the
code given below. |

(a) 1 only
(b) 2 only
I(C OE‘ 1 and 2.

(d) Neither 1 nor 2

g-ok| P.T.O.
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76, As Per _FAF’STAT (Food and Agriculture
"~ Qrganization

Corporate  Statistical

Database), which of the following is/are

$19
™ 1.

i |

correct about India’s milk production?

India ranked second in the world
in milk production in the year
2021-22.

India contributed 24% of global
milk production in the year
2021-22,

Select the correct answer using the
code given below.

(a)
(b)
(¢)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

77. Which one of the following statements
about the Group of Twenty (G20) is
not correct?

(a)
(b)

5 'aﬂif (c)

(d)

78. The

=

(a)
(b)

(c)
(4)

BNYR-B-GNS/75C

It was founded in 1999.

The G20 summit is held annually
under the leadership of a rotating

Presidency.

The G20 members represent
around 85% of the global GDP.
The G20  comprises twenty
countries. ]

Nobel Prize in Chemistry for the

year 2022 was awarded for

CRISPR/Cas9 genetic SCISSOTS

click chemistry and bioorthogonal
chemistry

lithinm-ion batteries

palaeogenomics

79. Which of the

following statements about
» js/are correct?

a ‘unicorn

1 In the venture capital industry,

; the term qnicorn’ refers to any
startup that reaches the valuation

of $10 billion.
rivately held startup can

5. Onlyap
pe a unicorn:
Select the correct answer using the

code given below.

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

80. Which of the following statements
about Santosh Trophy Tournament,
2023 is/are correct?

1.

The final match was played in
Riyadh.

The final match was played
between Karnataka and Meghalaya.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2




gl. Which one of the following recommended 84. Vengi’, the Cﬂpltal

that the public health expenditure “of
the Union and State Governments
together should be increased in a
progressive manner to reach 2-5 percent
of GDP by the year 2025?

(a) The National Commission on
Macroeconomics and Health, 2005

The Parliamentary Standing
Committee on Health, 2022

(c) The Fifteenth Finance Commission

city of the Eastem
ntified with which one

s, is ide
Chalukya cas?

of the following P
(a) Peddavegi
(b) Erumaiyur
(c) Salihundam

(d) Bhattiprolu

85‘. Who among the following was the first

(d) The Kasturirangan Committee

82. Kautilya in his Arthashastra describes
the availability of varieties of pearls
from the

(a) Madura region hills
Shravanabelagola hills

(c) Tamraparni river in the Pandyan
Kingdom

elected King of the Pala Dynasty in
Kamarupa?

(a) Govindapala
(b) Dharmapala
{c) Brahmapala

(d) Jayapala

86. Freedom fighter Agadhu Samantra

(d) Kaveri river in the Pa.lakk_gd region

83. Which one of the following pairs of
Dynasty and King of the Vijayanagara
Empire is not correctly matched?

(a) Sangama Dynasty—Harihara II
(b) Saluva Dynasty—Timma

(c) Aravidu Dynasty—Tirumala

(d) Tuluva Dynasty—Gunda

BNYR-B_GNs/75¢C

(Orissa) served the British-Indian Army.
Later on he left the British service to
join' the Indian National Army (INA)
in 1942. Where was he deputed by INA
as a Naik in the First Bahadur Group?
(@) Andaman-Nicobar

(b) Burma Front

(¢) Arunachal Pradesh

(d) Assam
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g7. Match List=I with List-II and select the
correct answer using the code given
below the Lists :
List-1 List-IT
(Central Trade (Political Party)
Union Federation)
A, Centre of Indian 1. Indian National
Trade Unions Congress
B. Indian National Trade 2. Bharatiya
Union Congress Janata Party
. Bharatiya Mazdoor 3. Communist
Sangh Party of India
p. All India Trade Union 4. Communist
Congress Party of India
(Marxist)

Code :

(a) A
4

(b) A
4

(c) A
3
(d) A
3

ol i (O IR S @]

=W O NE NE o~ W
GO pY wg wyo

88. The provision for constituting an ‘Expert
Committee’ finds place under which
one among the following legislations?

(@) The Child and Adolescent Labour
(Prohibition and Regulation) Act,
1986 LIS 3

(b) The Contract Labour (Regulation
and Abolition) Act, 1970 ;

(c) The  Building and = Other
Construction Workers (Regulation
of Employment and Conditions of
Service) Act, 1996

(d) The Inter-State Migrant Workmen
(Regulation of Employment ang
Conditions of Service) Act, 1979

BNYR-B_oNs/750
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: f the following is provided
Sk onttl:'leo hird gchedule of the
o 1948?

Factories AL ational Hazards

ist of OccH i

(c) List of Notifiable Diseases

. dustries Involving
(d) List of In Hazardous Processes

B Mities iy
rovisions of the ,
90. U;’lgd;;’ ﬂ:i cp Special Officer can enter

. he purpose of surveying,
?evrf:iﬁfg f‘:.n; mgasuﬁng, after giving
prior notice to the Manager at least
how many days in advance?

(a) Three days

(b) Five days

(c) Seven days
(d) Fourteen days

91. Under the provisions of the Payment of
Wages Act, 1936, every employer of
an establishment has to maintain the
registers and records regarding the
wages paid and deductions made,
if any, from the wages, and preserve
‘the_same from the date of last entry for
a period of -

(a) five years
(b) seven years
(c) two years
(d) three years

92. There are seven hemispherical containers
of radius R metres each and each of
them is fully filled with water. The
 Water in these is transferred to a
hen-us;phgﬁéal container of radius equal
to 15 times of R Such it el simum
mlml?er. of smaller containers get
emptl:ed out.. How _many. smaller
laraeuRers remain fully filed when the
_(a) __ e; . contal_x;ez:' .gefé'ﬁﬁi]ly;iﬁned?
© 3 z’i’) Lk

vy STPETOA



Ja7 30

BNYR-B_gNs/75¢C

93. What is the length of the radius of the

circle that passes through the points
(0 0), (0, 3) and (2, O)?

(a) 23 (b) 25
V11 13
o

Vo
,94., Suppose that x and y are distinct

variables that take values from
{1L23 4,5 6}. What is the probability

that the value of the expression
Xy+x+yis even?
1 1
(a) > (b) 3
1 1
c — —
(c) 7 (d) 5

95. Suppose that @, b>0. If the equation

x?2+ax+b=0 has real roots, namely

a and B, then which one of the following
is correct?

(@) o,p>0
(b) If .>0, then B <0
(c) o,B<0

{d) —1<%<1

96. The ages of Mr. Kumar and his son are

in the ratio 5:3. Fifteen years back
this ratio was 2:1 What was the age
(in years) of Mr. Kumar when his son
was born?

(b) 35

(c) 40 (d) 45

97. In a business firm, assets of the business

@ Following is the Trial Balance of a fir;,

Trade receivables
Provision for doub
Bad debts

31-12-2022 :

as on
i 7

25,00,000
1,40,000

tful debts

40,000

dditional bad debts during the
year are ?2,00,00?. The ﬁn‘n. has g
policy of maintaining a provision for
doubtful debts equal to 10% of the trade
receivables’ balances. The total amount
to be charged to Profit and Loss A/c
(for the year ending 31-12-2022) for
bad debts written off and. provision
created will be
(@) €2,50,000

(c) ¥90,000

The &

(b) €1,30,000
(d) €3,30,000

99, Which of the following is not a major

s@J/Sﬁbstamver form \

N

Tk | - ;
Maider the following information :

consideration in the selection and
application of accounting policies?

(a) Prudence
(b) Consistency

(d) Materiality

are valued on the basis of their intrinsic
value rather than i value. Thi
S s-RLEL

accounting is based on

o+ (@ T6,600

(a) r_ﬁoney measurement concept \Q“‘ﬂ:*
matching concept g\gb*\’
(c) going concern assumption bon

(d) consistency principle

Wthh one of the fouomgmmevalue
of inventory on January 31 under
Lo g i i o g -
perpetual  inventory system using
Last-In-First-OQut (LIFO) method?

Date Particulars Units | Rate per unit
: ' in ¥
Jan. 1 |Inventoryin hand | 200 ( il ) ‘\}Qﬁ
Jan. 8 |Purchases 1100 8 BAN®
Jan. 25 [Purchases  |3po 9|  |LAW
Jan. 6 |Issued for sale |[r100 =
Jan. 9 |Issued for sale [\goo | —— f\%’\)

N

VL.
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(a)

(c)

Bl O

x2+ax+b=0%

B ¥, @ frafifag i
(@ o,B>0
(b) ?lﬁcuo,ﬁ’{ﬁ
0 oB<0

(d) -1<g<1

e
93, frgatt (0, 0), (0, 3) 3% (2,0) ¥ i

9 % fien ) darE =27

(@) 2/3 (t) j@
13

(c) 3@ (@ =

94.m?ﬂﬁrqﬁ=xaﬁzyﬁaa%§éi§
(1,2,3,4,5,6 @ 9 IW #d ¢
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(@)
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(@ C
(b) %1z (FORTRAN)
(c) ST (JAVA)

(d) 9rEhd (Pascal)

% oTafes g'aqa
108. HTML H, "L]@a—:{ I )

(@) AM (Name)
(b) W@ (Align)
() F1 (Body)

(d) & (Link)

H 8 o i a7
) SR Eimbecigeq

B e g

(e T3-airey Multingey
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The insurance claim rece;j
of machinery damaged
fire is

ok
Completely by

(a)” capital receipt
(b) revenue receipt
(c) capital expenditure

(d) revenue expenditure

102. According to the Accounting Standard-1
which of the following are thf:-
fundamental accounting assumptions?

Moing Concern, Consistency,
Accrual

(b) Going Concern, Money
Measurement, Conservatism

(c) Going Concern, Consistency,
Conservatism

(d) Going Concern, Accounting Period,
Accrual

103. Which of the following errors is not
detected by Trial Balance?

(a)"A credit purchase of ¥1,000 from
Mr. Singh is credited wrongly to
the account of Mr. Akash :

(b) A credit purchase of ¥20,000 from
Mr. Sandhu is recorded in the day
book as 2,000

(c) Conversion of a temporary shed
into a permanent building 1s
recorded as repairs  and
maintenance expense

(d) Error in posting from the book of
subsidiary record to'the ledger

B
NYR"B—GNS/?SC

ved on account

308, I\Wiich one of the followinsiSIatccEE

is correct?

reserves are normally

(a) Capital f free or distributable

created out o
profits.

(b) Dividend equalization reserve is an
example of general reserve.

(c) General reserve can be used only
for some specific purposes.

(d) ‘Provision’ is a charge against

profit.

105. Which one of the following is not an error
of commission?

(a)Overcasting of sales book

(b) Credit sales to Ramesh ¥5,000

credited to his account

(c) ﬁWrong balancing of machinery
~“account ;

(d) Cash sales not recorded in cash
book

@ Which of the follawmg operators connects

a structure variable and its element?
(a) Dot opcratbr

(b) Plus operator

(¢) Minus operator 5 Bk

(@) Multiply operator

4
o g
Pl " T

¥ \EHB ~ [PT.O.
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which of the follow'mg is

o janguage?

(a) C
() FORTRAN
(c) JAVA

(d) Pascal

108. Which one of the following attributes is
required for internal linking in HTML?

(a) Name
(b) Align

(c) Body

N Linie

109, Which one of the following types of
operating systems is designed to
respond to an event within a
predetermined time?

(a) Embedded
(b) Real time
(¢) Multiuser

yar Synchronized

B
NYR*B—GNSNEC

39

no
ta top-down @what is the decimal equivalent of the
hexadecimal number 5A6D?

(a) 23149 SN0
(b) 23148 5o
(o0,
(c) 23147 SLol
(d) 13149

111. Two lenses of powers +2:0 D and -2:5 D
are combined to make an optical
instrument. The combination will

(a) act as a convex lens

M as a concave lens

(c) act as a simple mirror

(d) not form any image

112. For an inelastic collision between two

objects, which one among the following
statements is correct? .

(@) The kinetic energy  remains
conscrved, but not the momentum.

( b) The momen

tum . k]
butinot {4 remains conserved,

e kinetic energy.

¢) Bot -
\(ﬁ}eme dnetic energy and the
ntum remajn conserved.

kinetic energy nor the
T®mains conserved.



A train starting from o,
X : est wi ;

acceleration attaing 5 Speedth a uniform

in 5 minutes., The of 108 km/h

S distanc
the train in attainj € covered b
m mg the spee d iS Ly

g1

(a) 9000 m
(b)) 4500 m

() 355 m S

SapMd g S5

(d) 108 m

114, An .object 1S })laced in front of a concave
mirror atl infinity. Which one of the
following is correct for its image?

s
\{g}/A real and inverted image would be
formed at the focal point.

(b) A virtual and inverted image would
be formed at the focal point.

(c) “A real and erect image would be
formed at infinity.

{d)('L A virtual and erect ima.ge would be
formed at the focal point.

115, The main cause of ocean acidification is
\fﬂﬁ/c'arbon dioxide
(b) carbon monoxide
(c) hydrogen sulfide

(d) chlorofluorocarbon

" B3
- F "™ gns/7sc

116. Which of the following  statements
regarding the Ordinancc-makmg power
of the Governor isf/are not correct?

15 Tt asha discretionary pf)wer and
does not entail the advice of the

O/‘j Ministers.
ng power of

2. EHS Ordinance-maki
the Governor is confined to
subjects in all the three Lists of

Schedule VIL

: ith regard to repugnancy with
a Union Law relating to the
concurrent subjects, the Governor’s
Ordinance Wwill prevail notwith-
standing  repugnancy, if the
Ordinance had been made in
pursuance of SGnstructions’ of the

President of India.

Select the correct answer using the
code given below.

(a) 1 and 2 only
(b) 1,2 and 3
(c) 2 and 3 only
(d) 3 only

117. Which of the following statements about
curative petition is/are correct?

1. It can be entertained by the
Supreme Court of India only.

2. It can be entertained by the
Supreme Court of India and the
High Courts of India.

3. Certification by a Senior Advocate is
necessary to file a curative petition.

Select the correct answer using the
code given below.

(a) 1 only
(b) 3 only
(c) 2and 3
(d) 1 and 3

o



23932

g |

and international

: as
€CONOMIC managemen Pects  of

1
2. The principal reg
Department of R
the preparation
of the Union
the Railway B
Parliament

ponsibility of the
Conomic Affairs ig
and Presentation
Budget (including
udget) before the

¢ > al_ud the Budgets for
Union Territories and States under
the President’s Rule,

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

I, Which of the following statements
regarding the District P!annfng
Committee and Metropolitan Planning
Committee is/are correct?

l. In case of the Distrkit Pla?ngi:
Committee, at least 2th © b
members shall be elect:scl -bfle‘}c}
elected members of th;I dxs:-:;ahﬁes

the Munt
Panchayat and of b
in the district from ';m‘.:osld
themselves. Their prfnp0$e. A
be in accordance€ with

ion of the
urban to rural populatio
district.

5
{R‘Bﬂnsnsc

2. In case Of the Mctmpoli;an
Planning Committee, at lcast'ird
of the members of the committee
shall be elected by the' .elected
members of the pMunicipalities and
the Chairpersons of the Panchayats
in the Metropolitan area fr(.)m
amongst themselves. The proportion
of the seats to be shared by them
would be based on the raFi? of' t_he
population of the Municipalities
and of the Panchayats in the area.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

(¢c) Both 1 and 2
(d} Neither 1 nor 2

@ Which of the following are the major
objectives of setting up of Biotechnology

Industry Research Assistance Council
(BIRAC)?

1.1 To foster innovations and
entrepreneurship

2. To promote affordable innovations
in key social sectors

3. To empower startups and small
and medium enterprises

4. To encourage young investigators
for entrepreneurial and managerial
development in SMEs in bio-
technology

Select the correct answer using the
code given below.

(a) 1, 2 and 3 only
(b) 1 and 4 only
(c) 2, 3 and 4 only
(d 1,2, 3 and 4

[ P.T.O.
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